

GRADE 3 – MODULE 3:  PARENT GUIDE

Multiplication and Division with Units of 0, 1, 6–9, and Multiples of 10

Each day in class, we do practice sets. Attached are the answer keys to the Practice Sets from this module.  These answer keys can be used to refresh your child’s memory of work we did together in class and help you support your child with the math homework.  There is a footer at the end of each answer key that tells you the lesson number.  This lesson number corresponds with the lesson number on the homework sheets.  


Module 3 Contents:
	Topic A		Lessons 1 - 3
	Topic B		Lessons 4 – 7
	Topic C		Lessons 8 – 11
	Topic D	Lessons 12 – 15
	Topic E		Lessons 16 – 18
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 1 Problem Set

3. Complete the equations.

a. 2sevens= 7 twos g. 3x9=10threes — \ three
. 14 = 27
b. 3_SIX€5 = 6threes h. 10fours—1four=__ 1 x4

K .36

¢. 10 eights=8 NS i. 8x4=5fours+ S fours
- %0 -_ 537
j. D fives+1five=6x5
d. 4x (0 =6x4
=_30

i

L
|m

k. 5threes+ 2 threes

1
N

-

l. S twos+ D twos=10twos

28 =_2_$)_

] COMMON ‘ Lesson 1: Study commutativity to find known facts of 1, 6, 7, 8, and 9.

4 CORE | Date: 7/17/13 enga_g‘eny 3.A2
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2013 Common Core, Inc. Some rights reserved. commoncore.org Q) LAGIST M| reative Commons Attribution-NonCommercial-ShareAlike 3.0 Unported License.
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Toul=_35.
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2) a. Each dot hasa value of 8

Unit form: 5 5'5 hts

facts: 5x_8_= 8 x5

00000

Total -_4o

b, Use the fact abave to find 8 x 5. Show your work using pictures, numbers or
words.

G eights = 5oghs * veight
- ho+8

5 eights = %8

4 _ L know ©*8 =48

S\;;‘tdémﬂ \ more ﬁjhth

P IjSMS; £ also krew
thatb $x6 =48 because of
commu+a1‘ivi+\/.

ight
o 1eg
.

11 Sgymon :w S AT o o oMY

xx8
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3. An author writes 9 pages of her book each week. How many pages does she write in 7 weeks?

Use a five fact to solve.

®

7x9 =(sxq ) +(2xq)

Anines @ =45 +
iy @ /N A
5x94=45 @ ® 8 s 43
=\¢
@ @D 2x1=\ -y

She writes 3 pagesin -7 weeks.

4. Mrs. Gonzalez buys a total of 32 crayons for her classroom. Each pack contains 8 crayons. How many

packs of crayons does Mrs. Gonzalez buy?

D S 32+324
" acks of Croyons. )
How oty ? .
247

Hannah has $500. She buys a camera for $435 and 4 other items for $9 each. Now Hannah wants to buy

5.
speakers for $50. Does she have enough money to buy the speakers? Explain.

4x49=%3C
$4d435 i%é&" Hannah has $29 et

S s — 47| Che dees not have ehouj(n

—
41 Tz’q’ rroney 4o bwy the Speakers.
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Name G‘ nﬂ Date

1. Each number sentence contains a letter representing the unknown. Find the value of the unknowns.
Then write the letters that match the answers to solve the riddle.

7der-

Which tables do you NOT have to learn?

K 1 + ¢ h e n + a b 1 e s
2

9 6 70 3 5 20 10 70 24 7 20 4
COM MON Lesson #: Lesson Name EXACTLY Lesson Component Template n
I 7 CORE Date: 6/12/13 enga.ge y XX1

© 2012 Common Core, Inc. Al rights reserved. commoncore.org
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 3 Problem Set

2. Lonna buys 3 t-shirts for $8 each.
What is the total amount Lonna spends on 3 t-shirts? Use the letter m to represent the total amount

a.
Lonna spends and then solve the problem.
3x $8=m
— Lonna spends 424 on +-shirts.
™"
b. If Lonna hands the cashier 3 ten dollar bills, how much change will she receive? Use the letter c to

represent the change in an equation and then find the value of c.
J20-4d24 = ¢

Lovrwna M\\ﬁe'\' 46 in (_,\nav‘\j‘e\

=320 -
430

3. Miss Potts used a total of 28 cups of flour to bake some bread. She put 4 cups of flour in each pan.
How many pans of bread did she bake? Represent the problem using multiplication and division

sentences and a letter for the unknown. Then solve the problem.

L" >4 h — 28 ‘iﬁiﬁsﬁ
2%+ 4 - n Lu_—’—/_J
o
n="1 \————\/‘_—‘)
28 cups

Miss fotts mmade T
povs ot oread

4. At atable tennis tournament, 2 games went on for a total of 32 minutes. One game took
12 minutes longer than the other. How long did it take to complete each game? Use a

letter to represent the unknown. Solve the problem.

32-12=n
n=20 T N
QO%‘?—"S rA =22

The other g 400k 22 mindtes,

3:\()
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ON CORE MATHEMATICS CURRICULUM _ Lesson 4 Problem Set

2. icotimt bysbeto-fill i the blanks'below: 3. Count by six to fill in the blanks below.

6 12, 19 24 o 12 18 24 30 36 42

Complete the multiplication equation that Complete the multiplication equation that
represents the final number in your count-by. represents the final number in your count-by.

ex_ 4 - 24 ex 1 - 42

Complete the division equation that Complete the division equation that
represents your count-by. . represents your count-by.

2 e Y H2 .6-_7

4. Mrs. Byrne's class skip-counts by six for a group counting activity. When she points up, they count up by
six and when she points down, they count down by six. The arrows show when she changes direction.

= a. Fillin the blanks below to show the group counting answers.

20,612 18, 24 ¥ |12 124 18 24,30, 36 w3024, I8 p2a, 30 36 Y2 4s

b. Mrs. Byrne says the last number that the class counts is the product of 6 and another number.
Write a multiplication sentence and a division sentence to show she’s right.

6 X g =48 48+6= 8

5. Julie counts by six to solve 6 X 7. She says the answer is 36. Is she right? Explain your answer.
G, 12,18, 24, 30, 3¢, 42
No, Julie is not A h+ I counted by Six 1 Himes
and L 3o+ 2. So, GxT=41, hot 36,
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2. Complete th count by seven
Cauniontoepreent each

Bl T el
wB <35 B
a1 .49 Ll
St b A
@l x- 70 o

3. A2y 3 721 becuse 1 sven's , 2 sevens re 14 and 3 seversare 1446+ 1, which sl 21
Wiy dd A 30 6 30d 110 1, when e s couningby sver?

H+m =20 Mel
O Q0+ (= Al
Hoe added ¢ ard | 1o 14 |lecause he used
o humber bond +o brek apa 7.

P T e T——
ko, WhoA e i o . .
They are both right because couning-by 7 six
times equals 42 dncl  counting- by & sewn hines
also  equals 42, whith is nswer to 7xe,
Txb: bx’T
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wane_ina ose
1. Labelthetape dizgrams. Then fil inthe blanks below to make the statements trve.
a) 6xe=30 b 7x6s 42
(5x6)= 3Q 2 x 12
Txe1=5+20%6
~x6)+ 2x6)

o sxe 48 aoxe= St

(6= 30 H 6= 30 (4 xe-24

Bx6-(5+_2 )x6
=(5x6) + (3_x8)
TR
=48

J1E SQUMON [mms szt ot e

o G

sxe-r )6
=f5x6) + (Lt x6)

30+ 2t

B

engage™
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wane_ina ose
1. Labelthetape dizgrams. Then fil inthe blanks below to make the statements trve.
a) 6xe=30 b 7x6s 42
(5x6)= 3Q 2 x 12
Txe1=5+20%6
~x6)+ 2x6)

o sxe 48 aoxe= St

(6= 30 H 6= 30 (4 xe-24

Bx6-(5+_2 )x6
=(5x6) + (3_x8)
TR
=48

J1E SQUMON [mms szt ot e

o G

sxe-r )6
=f5x6) + (Lt x6)

30+ 2t

B
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2. Break apart 5410 solve 54 + 6. 3 Breakapart 4910 solve 49 + 7.

@9

sess=porer_ 2% +q PRTREC WL )
ase_ 4 ase_ 2
g [

4. Robert says that he can salve 6 X 8 by thinking of it a5 (5 X 8) 8. Is he right? Draw 3 picture to help you
explain your answer.

- Robert’s
0 1x8 a,xg: Gxadalixe Li?r\\(m T corect,
. = (5x8)*8 He Ts using the
Cxs {8 5x8 = 40+8 break apart and
4 - 43 digtribute Strateqy
. 4o Solve,

5. Kelly solves 42 + 7 by using a number bond to break apart 42 Into two parts. Show what her work might
o0k like below.

357+
5+ 1

& @) =&

COMMON | oo Gomctn s s coe e e et Yo e
T EGRON [ engage' 3
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 7 Problem Set

name _Gina Date

1. Match the words to the correct equation.

2 number times 6 equals 30

7 times 2 number equals 42

6 times 7 equals a number

63 divided by a number equals 9

36 divided by a number equals

2 number times 7 equals 21

2. Write an equation to represent the tape diagram below and solve for the unknown.

e[e e ]ee]e] oo 6x8-k k=48
O

T SO ———
113 Qymo priveimoiitren engage™ sz

o iy

[ ———— e tetome e s
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3. Model each problem with a drawing. Then, write an equation using aletter to represent the unknown
and solve for the unknown.
a. Each student gets 3 pencils. There are a total of 21 pencils. How many students are there?

21 pencils 2:30p
P=7
e e 1 et
P=+he number of who get pencils.

Students who get percils,

b, Henry spends 24 minutes practicing 6 different basketballdris. He spends the same amount of time.
o each drill. How much time does Henry spend on each drll>

24 minutes
Dt=m

Henry spends 4 minutes
m . on each drill
m=the ime Henry .
Spends on each drill-
Jessicahas 8 piecs of yarn or a project. Each pieceof yan is 6 entimeters long. What s the toal
lengthofthe yar?

Y Exb=Y
y=48em
The +otal ILnjH of the.
[4 am Ts 48em.
f/': total length of 1
the yari

d. Ginny measures 6 millters of water nto each beaker. She pours a totalof 54 millters. How many
beakers does Ginny use?

bxg-54

o] b e b=9
Ginny uses 9 beakers;

Siml
L =the number of beakers
e et ko st o
WASQNON | 7" BT e o o oy
St e et sy T ot e el st 3 od .
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3. Model each problem with a drawing. Then, write an equation using aletter to represent the unknown
and solve for the unknown.
a. Each student gets 3 pencils. There are a total of 21 pencils. How many students are there?

21 pencils 2:30p
P=7
e e 1 et
P=+he number of who get pencils.

Students who get percils,

b, Henry spends 24 minutes practicing 6 different basketballdris. He spends the same amount of time.
o each drill. How much time does Henry spend on each drll>

24 minutes
Dt=m

Henry spends 4 minutes
m . on each drill
m=the ime Henry .
Spends on each drill-
Jessicahas 8 piecs of yarn or a project. Each pieceof yan is 6 entimeters long. What s the toal
lengthofthe yar?

Y Exb=Y
y=48em
The +otal ILnjH of the.
[4 am Ts 48em.
f/': total length of 1
the yari

d. Ginny measures 6 millters of water nto each beaker. She pours a totalof 54 millters. How many
beakers does Ginny use?

bxg-54

o] b e b=9
Ginny uses 9 beakers;

Siml
L =the number of beakers
e et ko st o
WASQNON | 7" BT e o o oy
St e et sy T ot e el st 3 od .
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 8 Problem Set

Nome _(3INQ Bt
1 sobe.
s a2-gve 14 L 1O -pzea4a
b 12-@+6)=_Z L2 smeges
6 1 L oe1s)e3=_B
m. 0+(10-2)= 1O
o 30 .o . 04 i10-4)
15 =34(2x0) o G0r10-ax 2

o 3T -mseors)

o 9 -gse10es

2. Use parentheses to show the order you would need to do the operations to make the equation true.

o (16-2p 7219 T
o 2:22{1505) o nfa-19rs
e Ge7k6-60 © supnekas
o s<o+i0ks h so{100+10ks

L (z-7=3

. smarisi6)

o ey
RO e g engage ez
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3. Theteacher wrtes 24+4.+2= on the board. Chad says t equals 8. Samir says it equals £, Explain
how placing the {} n the equation can make both answers true

The ansuee con eguek F because (14+9) 422 (+2= 2.
D 4 becanee 24 (4422243624,

Tha @nsuer (am £gw

Both hoduds ave carvech]

4. Natasha solves the equation below by finding the sum of s and 12. Place the () round the equation to
Show her thinking. Then solve.

|+S =171

. Pl ol ot e 722 e G
(7+3)2= lox2=20.

Te(3xD = T46= B

COMMON | wsions: T —

SRE O |aar® G engage™ xx
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Lesson 9 Problem Set

Name 6|—na Date

1. Use the array to complete the equation.

3¢
AAAAAAAAAAALAA W
AAAAAAAAAAANA

AAA AAAY(AAL) | s
AAA AAA|AAA . q
AAA =
o 3eiss B2

e1e)

9: Model the assaciative property as a strategy to multiply.

I SQMMmON Der 73
1 CORE

© 2013 Common Core, Inc. Some rights reserved. commoncore.org

caBUBIBIRIEED

x 2 )x7
« 1

engage™

- This work s censed under a
[ TTETETM] (c.1ive Commons Attibution NonCommercialShareAlike 3.0 Unported License.
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image22.jpeg
NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 9 Problem Set

2. Place () in the equations to simplify. Then solve. The first one has been done for you.

-

0 3x16=3x(2x38) ¥ 2x14=2x(2x7)
=(3x2)x8 48 =(2x2)x7
= 6 ;(8 ) = L“ x7

S

3x12=3x(3x4) 3x14=3xé><7
=Gx3)k4 36 Hx2k7
=.j_"_]+_. =Lx7_
: 15x3{5x3k3 15x2{5x3K2
. =5x(3x3) L’_S =5x3x2)
- 59 - 5.6

-/

S

23
42
30

3. Charlotte finds the answer to 16 x 2 by thinking about 8 x 4. Explain her strategy.

I6x2 = (8R2)X2 Charlotte rev;)in'Jres}’ 16
= as 8x2. Then She
= 8 K CZX Z) \'Y)O\Ies ..H,e quan_H\egeS

= gxYy ovVer 4+» 2.xZ. That’s
= 372 bow She %ot +he related

—FaCJ", B % Lf'

” COMMON Lesson 9: Model the assaciative property as a strategy to multiply. ny
& Date: 7/2/13
| CORE engage 3.c8
= This work s licensed under a
© 2013 Common Core,Inc. Some rightsreserved. commancore.org () IR ..ive Commons Attibution-NonCammereial ShareAlke 3.0 Unported License.
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Name: (/m’\O\

Date:

1. Label the arrays. Then fill in the blanks below to make the statements true.

a) 8x8=_4 b) 8x9=9x8="]7
Bx5)= 10 1ex_3 )= 24 8x5)=_40 ;@x_t)=32
00000000 000000000
g?g::ggg 000000000
O I 000000000
@@@@apoo 000000000
00000000 000000000
00000000 000000000
00000000 000000000
@EOOO 000000000
8x8=8x(5+_3 ) 9x8=8x(5+_Y )
=(8x5) + (8x_3D ) =(8x5) + (8x_Y )
=40+Zl_+ =40+37_
- ﬂll = ZZ,

2. Break apart and distribute to solve 56 =+ 8. 3. Break apart and distribute to solve 72 + 8.

+8=(40 + 32 .
s6-8-(40+8)+(_ Vb =g 72+8=(40 + 8) +( - 8)
e 2 LN S
.1 =9
Lesson #: Lesson Name EXACTLY Lesson Component Template n
" gaans engage™ o xxa

© 2012 Common Core, Inc. All rights reserved. commoncore.org
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4. An octagon has 8 sides. Skip-count each octagon to the find the total number of sides on 9 octagons.

CePeY®aeE

Nine octagons have a total of «QP sides.

5. Multiply.

_m COMMON | Lesson#: Objective goes here in sentence case with a period at the end of the
d

ny
CO tence. mmzumﬁum X.X.2
_N m Date: wwwmm\“wm 11111

& 2012 Common Core, Inc. Allrights reserved. commoncore.org
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6. Match.

COMMON Lesson #: Objective goes here in sentence case with a period at the end of the =<
CORE sentence. mb@.mmm X.X.3
Date: 6/12/13 -

@ 2012 Common Core, Inc. Allrights reserved. commoncore.org
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NYS COMMON CORE MATHEMATICS CURRICULUM Lesson 11 Problem Set

Name GTnO\ Date

1. Ms. Santor divides 32 students into 8 equal groups for a field trip. Draw a tape diagram and label the
number of students in each group as n. Write an equation and solve for n.

. 32+%=n
h{n|ln|nin{hljn|n n=y

\_’_/_\/____/ Tl\ere are "l‘ thlerri’s

37 ctudents n each group-

2. Tara buys 6 packs of printer paper. Each pack of paper costs $8. Draw a tape diagram and label the total
amount she spends as m. Write an equation and solve for m.

M= x 48
434345 [45]43 ] 15] iiteriote
— _/

g Tara spends $U48 on printer
m raFer.F P

3. Mr. Reed spends $24 on coffee beans. How many kilograms of coffee beans does he buy? Draw a tape
diagram and label the total amount of coffee beans he buys as c. Write an equation and solve for c.

5?3) c 4% cE B saforiie.

— = Mr. Reed buys 3K
?zﬁq- of coffee.

; Lesson 11: Interpret the unknown in multiplication and division to model and
I < COMMON ’ solve problems. ny
" CORE Date: 7213 engage

) - This work s licensed under a
© 2013 Common Core, Inc. Some rights reserved. commoncore.org (<) AU (.. tve commons Attribution-NonCommercial-ShareAlike 3.0 Unported License.

3.¢7
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NYS COMMON CORE MATHEMATICS CURRICULUM : Lesson 11 Problem Set

4. Eight boys equally share 4 packs of baseball cards. Each pack contains 10 cards. How many cards does
each boy get? ’ ‘-"0
(o /\Cards
R o= =)
0= =
oo o o] |b|b]b|b|b|b[b]b ¥

L}Cilc:*;c Each Eoy je’rs 5 cards,

5. There are 8 bags of yellow and green balloons. Each bag contains 7 balloons. If there are 35 yellow
balloons, how many green balloons are there? 56 bdubbns‘
AL

D

J

ISR
—~
~ 35 yelow 9

b 3
sx1eh 5¢-35-3
b=56 J=2l
There are 2l qreen balloons.

\——

6. The fruit seller packs 72 oranges into bags of 8 each. He sells all the oranges at $4 a bag. How much
money did he receive?

720m[\3e_g
ls b 18 L [TF (9494|938 |94y
\//—_\/—\__—/

12-g=b m

- - The fruitseller
b 9 T 7;\3;’;;:\ receives $3¢.

Lesson 11: Interpret the unknown in multiplication and division to model and ny
a solve problems.
“ CORE Date: 7/2/13 engage _3.C.8 ]
This work s licensed under a

© 2013 Common Core, Inc. Some rights reserved, commoncore.org () IEZTETM| . ive Commons Atribution-NonCammerciak shareAlike 3.0 Unported License.
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Nome __Gina Date

6x9=(5+1)x9 Tx92(5+ B x5
=(5x9)+(1%9) =(5x9)+(__x9)
sase A Sase g
=54 L3

sx9:45
aen QI
8x9=(5+_3 )x3 9x9=(5+_4 )x9
x4 3 x93 ) x4 x T )
as421 54 B
seT 2
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2. Find the total value of the shaded blocks.

a 9x6=_54 b 9x7: (3
T 2 Y I
L ) . ]
T Y
9 sives = 10 shes ~1six 9 sevens= 10 sevens -1 seven
=b0-¢ =J0-7
.54 o3

9eights =10 cghts 1 elght 9nines = 10 ines 1 nine

=20 -8 =% -1q
-z it

3. Matt buys a pack of postage stamps. He counts 9 rows of 4 stamps. He thinks of 10 fours to find the total
umber of stamps. Show the strategy that Matt might have used to find the total number of stamps.

x4

9 fours = 10 Fours - [ Ryur

H40-4 =3

Mt bought 36 posinge stamps.
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Name G INA Date

1. a. Skip-count by nine.

9 ¥ 21 36 45  s4y . L3, 71 g 90

’

b. Look at the tens place in the count-by. What is the pattern?

TAe, fens pla(,e, jncreuses by / .
¢. Look at the ones place in the count-by. What is the pattern?

The ones }J(d&& JQCI‘QA§eg b)l /

2. Complete the equations.

a) 10morethanOis 10 f) 10 morethan45is 5.5’
1llessis 9 llessis S j
1x9= 9 6x9=_5 ’_-[
b) 10 morethan9is 19 , g) 10 morethan54is A v
1lessis 18 1lessis éﬁ‘,
2x9=_ ¥ : 7x9=_b3
c) 10 morethan18is L5 h) 10 morethan 63 is 13
1lessis 2') 1lessis 71
3x9= 3 L 8§x90= 1 2\
d) 10 more than 27 is 37 i) 10 more th; 72is —-——l
1lessis _Jb llessis _ Ol
4x9= 3 b 9%9= —-——L——g
e) 10 morethan 36is é‘[ b j) 10more th:)ZSl is —9—————/
4 /' .
1lessis 45 1lessis ———————q
s5x9= 4g 10x9=_70
COMMON ! tessons: Lesson Name EXACTLY G3-M3-TD-L13 Worksheet.docx n
Ig CORE Date: 6/27/13 eng' a_g e y X.X.1
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3. 5. Anayze the equations i problem 2. What s the patter?
“The gch«ms odd 10 then subtrack 1. 101
To get @ nines fack you add 10, 4hen Subtvack (.
b, Usethe ptternto fnd the next 4 facts. Show your work
1ixo= 12x9= 13x9=
QA0+10=100 Aq+10-109 108 +10=118
100-1=% ng-(=n7
11xq=aq 12T

Kent notices another pattern in problem 2. His work i shown below. He sees that:
«the tens digitn the product s 1less than the number of groups
« the ones digit I the product is 10 minus the number of groups

Use Kent's strategy tosolve 6 9 and 7 9.
bxa=84 —» S=0

and Yoo
T7xA:3 —8 b=t ond  3:=l07
. Show an example o when Kent's pattern doesn't work

12292102, O doec ot equal (21, And & does not €foal lo2.

TI2 SOUMON | semmsmnassaressi
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1 number sentence contains a letter representing the unknown. Find the value of each unknown.
Then write the letters that match the answers to solve the riddle.

How do you make one vanish?

Add a g
L4449 29

COMMON | tesonts: ey
CORE e o

engage’ :o:
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Name _GiNG Date

1. Multiply. Then add the tens digit and anes digit of each product.

axi= 9
9x2= 18
9x3=27
9x4=36
9xs:l4h
9x6= 54
9x7=63
sx8=2
9x9= 31
9x10=90

b. What was the sum of the digis in each product? How can this strategy help you check your work with
the nines facts?

The sur of +he digits in each product is 9. S ¥ x add
up he digits in my answer and it equals 4, my answer
is (nvrui

. Araceli continues to count by ines. She writes, "90, 99, 108, 117, 126, 135, 144, 153, 162, 171, 180,

@)@ ow! o smo h digt s 111 h correct Whyor why ox?
Avaceli is incorreck, She counts by nine correchy, but
189 and V98 does not follow the rule. IL you add
up the digits, it does not equal 9. So the sirateqy
Of the sum of the dv‘ﬁi}; only happens up to \go.

[ SQUMON s i o tosme s

engage™ o
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2. Aracel uses the number of groups n8 X 9o help her find the product. She uses 8127 to get the digit
in the tens place, and 10 -8 =2 to get the digit In the ones place. Use her srategy to find 4 more facts.

® gyazts @ exazs4 @ q9xd=gl @ 2x9=12

o= [ 6157 a1/ 2-17]
10-¢

05=5 o= 10-2-8

3. Denriscolculates . by thinking 3bout£ 25808 72. Explain Dennsratey.
Denviis vses A= 10-1.
Ten eights = 3O- Winus | et 15 72.
30-%=T2.
722958

4. Sonya figures out the answer to 7 x by putting down her right index inger, shown below.
Whatis the answer? Explain how to use Sonya's finer strategy.

Sonya is thinking each finger madches a
é umber Aom Ao 10, | on 4he left, 10
on e vight. She puts down her T
Crrapr 45 match dhe T in Txq. Then she
eeS Heere atC 6 Linacvs o the lef+ (Gens
place) ond 3 o the Rt (omes place).
Tre pradoch = b3

[1 SQMMON | tsorune s smconmre renpine engage™
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name _Gino oate

1. Mrs. Parson gives each of her grandchildren $9. She gave atotal of $36. How many grandehildren does
Mis. Parson have? Write an equation and use 2 leter to represent the unknown.

Mes. farson has 4 grondehildren .
2. Shivapours 27 ers o water equally Into  conainers. How many ltrsof ater are i each container?
n ers
o 2759 =n
n=3 lders .

[E————

27 1Hers Trere ove 3 WHers
9q containers i each comainer

3. Derek cuts 7 peces of wire, Each piece is S meters long. What is the total length of the 7 pieces?

s 7x9=b

(T beos

T bhdes The T pieces are 63
7 pieces rreters lona:

17 SQMMON |smon e oo e

= engage"™
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. Aunt Deena and Uncle Chri share the cost of a imousine rde with their 7 friends. The ride cost a total of
$63. 1feveryone shares the cost equally, how muich does each person pay?

LI LT T

T frierds + Undle chris and Aunt Deena =9

de3 4632927
Each person pays §7.

5. Cara bought 9 packs of beads. There are 10 beads in each pack. She always uses 30 beads to make each
necklace. How many necklaces can she make ifshe uses all the beads?

qxlo=c beads. ¢ =90
She buys A0 beads.

| necklace | neckloce Inecklace.

ki sl i
Lol el ol elo[ o] o [e]i0)

Qovo con wake 3 necklaces.
6 There are 8 easers i a set. Daman buys  sets. After ghing some erasrs away, Damon has 35 erasers
left. How many erasers did he give away?
G eiosers
o1z

AR
- 58
——axg:rz———m T

He gove away 37 evosers

[I SOUIMON | usmon  nsome o ssncomm e
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wame _(inay oate
1. Complte.
@ o x1=5 6.0 +7:0 @ex_L =8 @o+_L =9

@ o+s=_ 0 0 _5_xo=0 @as Y =1 0.3 xis3

2. Match each equation with s solution.

-

What patcern doyou noice?
The products grow by !
Same as +he Sactor Hhat's ot [ Any number X 1= fhat sumber.

cach fime. Also the productis the

i engage™ xu
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4. Josie saysthatany number divided by 1 equalsthat umber
.

Writea division equation using n to represent osie’s statement.

n=+l=n

Vour equationis true.

b.. Use your equation from Part (a). Let n = 6. Write a new equation and draw a picture to show that

6sl=6 @

& Weite the reaced multplicaton equationtht you can use o heck your divsion equston.
bxl=¢

5. Matt explains what he learned about dividing with zero to his ltte sister.
What might Matt tellhs sster about soling 0+ 97 Explain your answer.

He will fell her +hat it equals © because O divided by
any number equals o

b.. What might Mat tel hissister about solving 8 + 07 Explain your answer.

If you 4hink about +he related muliplication fack, -there
is no number that makes it Hue, and thab's the same
for +he division Lact

‘What might Matt tell his sister about solving 0+ 07 Explain your answer.

The answer could be any number!
know what +he answer is.

So You cant reall)/
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name _(5ina Date

1. Write the products as fast a5 you can into the squares.

TXT 250 [351 a1 [sx1 [6x1 [7x1 [ox1
| p2 |3 Y18 [
Txz [2x2 [3x7 |4z [sx2 [6xz [732 [6xZ
2|4 |6 |8 o |12 |4t |16
N e N EE R B L W LT e
3 |69 [tz |15 |18 21 |2%
Ted [ 2x4 [3x4|axa [5x4 [6xa [7xd |84 1
“Hlg 2|6l 2o 20 28732
Txs [2x5 [3x5 [4x5 [s%5 [6x5 [7xs [8x8
5 |1o'|15 |20 25 |30 |35 [Ho
Tx6 [2x67 [3x6 [4x6 576 [6x6 776 [8x8
6 |12 |18 |24 30| 36| U2 |48
Tx7 (257 [3x7 [8x7 557 [6x7[7x7 [o%7
7 | ™ |21 |28 |35 | 42|49 |56
Tx8 (278 [3x8 [ax8 [5%8 [6x8 [7x6 [8%8

8 | 1624 |32 |40 |48 |56 |4

Colorall the squareswith even products orange. Can an even product ever have an oddfactor?
Yes, because odd times even equals even.

b, Can an odd product ever have an even factor?

No, because odd products only happen with 2 odd factors,

¢ Everyone knows that 7x 4= (5 x 4) + (2 x4). Explain how thisis shown in the table.
The table shows 5xit=20 and 2xU=8. So, Zo+8=2g,
which is the product of x4
4. Use wht you know to find the product of 7 x 16 o 8 sevens + 8 severs.
Txlb = (Tx8I+(Tx8D
= B 156
= 1z
P ———
JIA Sgymon | = ot ot engage™
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. What pattern do you notice inthe number of squares that are added to each new array?

The pattern is skip-counting by o0dd numbers.

. Use the pattern you discovered In part b to prove this: 991 the sum of the first 9 odd numbers

First 9 0dd numbers: 1,3,5,7,9, 1,13, 15,11
Sum: Y+ E v ga A vy 1 4154 15 1]
© @ &

o+l =8l
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. What pattern do you notice inthe number of squares that are added to each new array?

The pattern is skip-counting by o0dd numbers.

. Use the pattern you discovered In part b to prove this: 991 the sum of the first 9 odd numbers

First 9 0dd numbers: 1,3,5,7,9, 1,13, 15,11
Sum: Y+ E v ga A vy 1 4154 15 1]
© @ &

o+l =8l
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Lesson 18 Problem Set [ETF]

Name _(Fping, Date.

Directions: Use the ROW process for each problem. Explain why your answer is reasonable.

1. Rose has  pieces of yarn that are each 9 centimeters long. Sasha gives Rose a piece of yarn. Now Rose
has 3 total of 81 centimeters of yarm. What i the length of the yarn that Sasha gives rose?

4 S
8lem
T=number of cm Rose has
6x9=r
r=Stem

S= number of cm of yarn 27 =50 + 30 = §0
Sasha gives foch Db2= 50450 "Bocm

My answer is reasonable because
81 -64=s oy estimate, 8ocm, is close 4o
S=2Tem 8l em
Sasha gives Rose 2Tem of yarn
2. o spends 29 minutes doing isspelling homewwork. He then completes each math problem in 4
minutes. There are 7 math problems. How many minutes does Juliospend on his homeworkin all?

EEOROT
SM———
h

= humber of minutes

My answer is reasenable
et tinekh. Resfitock 'Zt\{mc\:SL 57 minules Ts almost
Txt=m an hour and 29 and 28 are
M= 28 minutes each about half an hour,
h = humber of minutes spert on Two hatf hours equal an howr.
homework A
29+28=
- Julio sperds 57 minutes on his
h= 57 minutes ey
I SQumoN | :u ;Ez;Z;;-ﬂz::;_m?mm:m..,m-w,m engage"y .
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3. pearl buys 125 stickers. She gives 53 stickers to her itle sster. Pearl then puts 9stickers on each page of
heralbum, Ifshe used al of her remaining sickers, how many pages did Pearl put stickers on?

125 s¥icker s £ = number of fages Pearl puts chickos
on.
=
2 P=8
Senumber of stickers fearl Pearl puts stickers on 8 pages,
has lef. P
o My answer Ts reasonable because
’7-212?;;\?6“(5 qxg =11 and T2+53x T2+ 50= 22

and +hat is close 0 125,

4. Tanner's beaker had 45 millliters of water nit atfirst, After each of hisfriends poured in 8 miliiters, the
beaker contained 33 millters. How many fiends poured water into Tanner's beaker?

£ = humber of fiends
ug=% = 4§
£2L friend s

G friends poured waler info Tamnerls

beaker.
My answer is reagonable because T koo
946748 and HErU5 & S50+ U595
and 4hat 5 close 4o 93,

5. Cora weighs 4 new, identical pencis and a ruler, The totel welght of these items s 55 grams. She weighs
the ruler by tself snd it welghs 19 grams. How much does each pencllweigh?

p=number of grams each pencil weighs

n .
— pe3 "
” Eack pencil weighs 9 graras
W= number of grams N
u“mpwuls v?sz] . 4¥q=34 and 364197 35420755
w Wy ancwer (5 reasonable because
Ssv; l:1!3’(, xj checked my worle with mulkiptictror
3 and additon and get -

117 GQMON | = =™ engage™ e
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Name (Q\V'\C\ Date

1. a. Solve. Shade in the multiplication facts for sixes, sevens, eights, and nines that you already know.

L T s i
o ey Y e A
. | 3 AL i e
s U 0 a5t
W '.4(0 Al A 30“ 36
| VB as a7 Mo
B Y29 B

s A2V 305 sy <z
0 |10 |20 30407 50 b6 | To | 80 | 90 160”

b. Complete the chart. Each bag contains 7 apples.

Number of bags 2 3 4 5 Q’

Total number of apples H' 21 23 35 42

2. Use the array to write 2 different multiplication sentences.

COOOOO a4

&
&
0
.
& W=
LC





